CLUTCH COVER

http://sparepartsfinder.husqvarna-motorcycles.com/Print.aspx?includePa...

2014 / TC 125 HQV

) Husqvama CLUTCH COVER
145033020
@ O\
@ ;
\.
@_ k
@
- ®
@ it
@
a !
@ @
! -.
- .
L @ @Iﬂ
@
Position Part number Description Qty
1 5033000114415 CLUTCH COVER CPL. 125/200 09 1
5 0910100003 PLUG DIN0910-M 10X1 2
6 0603100141 COPPER GASKET DIN7603-10X14X1 2
9 0025060506 HH COLLAR SCREW M6X50 TX30 2
12 0025060126 HH COLLAR SCREW M6X12 TX30 1
13 0603061001 CU-SEAL RING DIN7603-6X10X1 1
19 0770191015 O-RING 19,00X3,00 NBR 1
20 58030120000 OIL FILLER CAP M24x3 WITH O-R 1
21 0770160030 O-RING 16,00X3,00 NBR 70 1
25 50330025000 CLUTCH COVER GASKET 0,5MM 1
26 50330626000KA CLUTCH OUTSIDE COVER "HQV" 1
27 50330027000 CLUTCH OUTS.COVER GASKET IMM 1
30 0025060406 HH COLLAR SCREW M6X40 TX30 2
31 0025060356 HH COLLAR SCREW M6X35 TX30 9
33 0025060306 HH COLLAR SCREW M6X30 TX30 4
52 50335052000 % WATER PUMP COVER 125/200 98 1

1of2

11/06/2014 15:13



CLUTCH COVER http://sparepartsfinder.husqvarna-motorcycles.com/Print.aspx?includePa...

90 49030090000 DOWEL 9,8 X7 X 10 |4 |

20f2 11/06/2014 15:13



